
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

Case MX 180-270 Reciever tube20-102111

Case MX 180-270 Front Tube20-102412

Case MX 180/270 Hook20-130313

1

1

2

2

A A

B B

3

1

Case IH

Front Mount Conv.

Bolt List

QTY Description

Placement

6 20 mm x110 mm Bolts

Reciever Tube Behind weight Bracket

2 20 mm x 110 mm Bolts Reciever Tube Back to Front Frame Ext.

8 20 mm Harden Flatwashers

2

3/4 x 9 Bolt

Front Tube to Reciever Tube

2

3/4 x 7 x 9 U Bolts

Hook to Front Tube

8

3/4 x 2 1/2 Bolts

Saddle to Hook

14

3/4 in Lock Washers

14

3/4 in Nuts

MX

180,200,220,240,270

2

Price List
$1750.00

Limitations may apply.  Please consult 
API Sales at 800-288-1117.

Conv ID:  CS-MAGMX-9902-FM-Conv


